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Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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In a certain town, 25% families own a
phone, 15% families own a car, 65% families
own neither a phone nor a car and 2000
families own both a car and a phone.
Consider the following Statements (5) :

(59) : 35% families own at least one
of a car or a phone.
(S,) 40,000 families live in the town.
Then :
Options:

1. (59 is true and (S,) is false.

2 (S,) is false and (S,) is true.

3 Both (S4) and (S,) are true.

i | Both (S,) and (S,) are false.

Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If the roots « and 5 of the equation,

x2 V2x+c=0 are complex for some
; a—pB

real number =1 and =1, thena
1- aff

value of c is :
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Options:

1. —2++6
2 deciff
5, S=p
4' 1+ \jg

Question Number : 2 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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Question Number : 2 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let A be a 2x2 matrix such that
3A2 4+ 6A —41=0. Then a value of |A+]1
15 ;

Options:
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Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
siny cosxy  lanx
: 3 2 i’
it f@)=K" & =z |,
2x 1 x

to:
Options:

1. 0

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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If « and B are the coefficients of x® and x —24

respectively, in the expansion of

"uIﬂ o
4 ; s
[x -2 4 s | in powers of x, then 7 is

Xk B

equal to :

Options:
13

1. 2

7?26

4,

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let S=3+55+333 + 556565 +33333 +.... upto
22 terms. If 95 +88=A(102-1), then A is
equal to :
Options:

530

1. 2
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2.
450
3. ®
630
4, 8

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AT S =3+ 55 + 333 + 5555 + 33333 + ...
22 921 9, ¥ 1 AT 95+ 88=A(1022—1) &,
A T E
Options:
530
1. 9
3%
2. 88
450
3. 9
630
4 88

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

QIRlE S=3+55+ 333 + 5555 + 33333 + ...
22 el Yell. oA 95 +88=A(102-1),dl A=

Options:
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
If r=elsintand y=efcost, t is a parameter,
. 5
dx d- .
then the value of - [ —:g att=0,is:
dy dx
Options:
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

For non-zero real numbers [, m, nand a, let
flx)= x>+ mx +n and f(a) = f(4a). Then the
value x ¢ [a, 4a], at which the tangent to the
curve y=f(x) is parallel to the x-axis,
is :

Options:

1. 2

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ﬂ?ﬁaﬂﬂﬁ%ﬁmﬁ?,m,nWa%m
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Options:

1. 2
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4. 7a

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The set of all positive real values of k, for
which the equation x3 —9x%+24x k=0
has three distinct real roots, is the interval :

Options:
1. (18,21)

2 (16, 20)

3 (12,16)
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Question Number : 9 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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Options:
1. @821
2 (16,20)
3 (12,16)
4. (1418

Question Number : 9 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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Options:

1. (18,21)

2 (16, 20)

3 (12 16)
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Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

 (2sinb — 1)cosd
The integral _[ 5 — db s
5 — cos“b 4 sinf

equal to :

(where C is a constant of integration)

Options:
2
—_—
3 log,.(2 +cosb) + =
1.
2 C
3 log (2 sf) + ——— 4
0Be(2—cost) + om0
2 log (2 — sinb) 4 - FC
DA%~y 2 — sinb
2 log (2 + sinb 3 + C
A 0g,.(2 + sinf) + S p——

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
3 log (2 +cosb) + . . HC
Aogatooel) 2 — cost

1.
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2 — sinf
2 log (2 — sinb) A - +C
s EREE N e
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2 log,.(2 + sinb) + 2 com L

4 cost

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

(2 sinb 1) cost

UsaA _{ = — do =
5~ cos i 4 sinf

(sl C 2l sl 2015 )

Options:
2
—
1 3 log,.(2 +cosb) 4 =k
3log (2 : i
. s) +—————
2 0e(2 ~cosl) 2 — sinb
2 log (2 — sinfl) + g :C
3. 0 (% ~5ind) 2 — sinb
2 log.(2 + sinf . EC
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Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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The area (in sg. units) of the region,
R={(x, y) : y<x2, y<2x+ 3,x<1 and
¥ +120}is:

Options:
8

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

&3 R={(x, ) yixz,yiz:r b 3, x<1 9l
y + 120} 1 Fwel (5 srEal §) 7

Options:
8

1. 3
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Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

MEUR={(x, 1) : y<x?, y<2x + 3,x<1 i

¥+ 120} 4 g (2l Sis) ARzl beq
CICH,
Options:
8

1. 3

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let C be the circle concentric with the circle,
222 4 23:2 6x —10y =183 and having area

1.3
[— of the area of this circle. Then a

tangent to C, parallel to the line, 3x +y=0
makes an intercept on the y-axis, which is
equal to :

Options:
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Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
1. 14
2. 17

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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YIRLS Adn C 244 ddu
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Options:
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Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The area (in sq. units) of the region enclosed
by the lines, ax *bytc=0 (a, b, c € R are
positive and distinct) is :
Options:
23 2
1,
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Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

@3 ax+by +c=0(a, b, c € R, 97 a1
i ¥) g ufterg 4 = ke (3 Tl
) 8.

Options:
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Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Yol ax+by+c=0 (a, b, c e R 2 &l 24
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Alelrizdl 54 2?
Options:
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Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If an ellipse has centre at (0, 0), a focus at
(—3, 0) and the corresponding directrix is
3x+25=0, then it passes through the
point :

Options:

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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afe UF g T F= (0, 0) W T, TH A
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Options:

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
Let P be the point of intersection of two lines

x+10 _y—-21 _ z+ 11
1 = - = 3 and

x=1 _y—46 =z )
5 9 -3 If Q be the point

(—10, 21, —11); then PQ is equal to:

Options:

1. 3

2 5

Question Number : 15 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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1 7 5
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Options:
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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Options:
1. 3
2 5

Question Number : 16 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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If 6 is the angle between the line
iy A A ) | A A A
i k}rh{;‘ jIZIr],heR

and the plane r - (2: ; | Ic] 4, then a

wvalue of cosl is :

Optiqns:
Ji
1
V3
Z: @
3. 6
7
4. 3

Question Number : 16 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 16 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Let X be a random variable which takes
values k with the probability kp, where
k=1,2,3,4and pe(0,1). Then the standard
deviation of X is :

Options:

1. 1

2. 7

4 J10

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Ml X U U1 Agfed =1 2 faasd 9@ k #
WA kp &, W&l k=1,2,3,4 T4 pe(0,1)
F1 1 X 1 9 Ao 2

Options:

Tg ¥

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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airls welRs ag X 2 Bud k arel s adl
HdelleAl kp B, sl k=1, 2, 3, 4 2 pe(0, 1),
dl X o Wil [Bed ARzl seq ae?

Options:

1‘1

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If the probability of a shooter A not hitting
a target is (.5 and that for the shooter B is
0.7, then the probability that either A or B
fails to hit the target is :

Options:

1. 035

2 025

3. 020

4. 085

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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G TF YT A Tl UF @83 & 9 98 99 Fl
HIfaehdr 0.5 € a1 922 B i 34 @167 F1 7 92
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Options:

1. 035

2025

3. 020

4. 085

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QRS [Halrels A d# A dél del Hous 0.5 9
2l 24 deudHAl [FRudetsy B w2 0.7 6. dl
[Faunctsr A 2 Haudelse B @3 dasul
[Fros0 s del deuadl szl 27

Options:

1. 035

7025

3020

4, 085

Question Number : 19 Question Type: MCQ Option Shuffling: Yes gﬁﬂ.‘lﬁ%ﬁiﬂﬂiﬂf
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Correct Marks: 4 WrongMarks: 1

The value of coti is:
24

Options:

1'2|J§|\E J6

3 EIﬁ{mEIxrg

41|J§|«J§|J€

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

+:r:+tE Eﬂ:ﬂﬁ'%:
24

Options:

1. 2+2+3-6

3 2+ 2+\B+6

4. T4 30 =08 06

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

cc}t% o Y AlAsiel 5 7

Options:
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Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The Boolean expression
~ (pvq)v (~p ~ q) isequivalent to:
Options:

]..

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TFAMFSAF ~ (p v q) v (~p ~ q) = H
g fFa g9 2?2
Options:

1: B
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Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Alddd [BYA ~pvev (~pag
Al sid 1quse 57
Options:

1. P

Sub-Section Number: 2
Sub-Section 1d: 40503638
Question Shuffling Allowed : Yes

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The largest value of n ¢ N for which

74 . 8
n o n+l )
P Pt

Response Type: Numeric
Evaluation Required For SA: Yes
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

ne N & dAfyFayg @, fagx fau

i n+3

nJr4 7 n+1l PE %’% I
Pll 1—]In* 1

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

ne N Hedd BEod & sl L2

- .?4: I"I.'i'-:s

n Pn |'1+IP

n+l

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If y = y(x) is the solution of the differential

d
equation, lf = y(log, y — log, x+1),

when y(1)=2, then y(2) is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0
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afs y=y(x), HIHA  HHHI

% = y(loge y — loge x+1) %71 7= 3,
sAfEy(l)=28% AyQ)FAAE |

X

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sl y=y(x) = [EAsa  udlsw

o |
x=L = yllog, y ~ loge x+1) sl y(1)=2

Al G54 dix Al y(2)=

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The interior angles of a polygon are all
obtuse and are in A.P. If the smallest angle
is 1207 and common difference of this A.P.
is 5° then the number of sides of the
polygonis

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
9t0 9

Question Number : 23 Question Type: SA

Correct Marks: 4 Wrong Marks: 0

U TgS & Gt FHa:Fm, Afaw o E g
AR 211 E | g gad SR R 1200 H
Y1 TH THRHE 431 1 9@ SR 502, 9 34
TS I A FI HEA T t

L P PR SR

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
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Possible Answers:

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

D5 ASHEAL AAtlley 210l 358 B 2 o
Wiz Aol (AP) Hl 8. sd el -l el
120° AL €11 24 21 12 Sell-l A dsed
59 Al ¢l ol 24l etgslerl syl dva
= 212,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

: f 2
lim e ke B is equal to

y—0 Ey'

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

; 2)+ 241+ y+ y*
1

y—0 2y

WIET B

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

. 2) + 2,1+ y + y2
1

y—=0 Elf

e —

Response Type: Numeric levedun
‘g collegeaunia:


Stamp


Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

w _
S5 = {z ell:x= :z"_} , then the maximum

| 2
value of |z J3 ;'| on Sis

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

e e et

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gfe S={zeC:z=i2}, M S W

-3 i ®1 afewmm wm @

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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3 il Al S uadl wenw Bud =

(]

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Aptitude Test

Section Id : 40503628
Section Number : 2
Section type: Online

Mandatory or Optional: Mandatory Q leseduni
collegeaunia:


Stamp


Number of Questions: 50

Number of Questionsto be attempted: 50

Section Marks: 200
Sub-Section Number: 1
Sub-Section 1d: 40503639
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Options:
1.
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|

2.

[1]
3.

[ ]

4.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegedunias


Stamp
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Options:

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Stamp
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Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Qcollegedunias


Stamp


Question Number : 27 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1
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Options:

1.

Question Number : 27 Question Type: MCQ Option Shuffling: Yes

Qcollegedunias


Stamp


Correct Marks: 4 WrongMarks: 1
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Options:

1.

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the

arrow, from amongst the answer figures.
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Options:
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Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Qcollegedunias
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Options:

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Qcollegedunias
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

1.

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Qconegeduniw
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the

arrow, from amongst the answer figures.

Options:
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Qcollegedunias


Stamp
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Question Number : 31 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes
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Question Number : 31 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Options:

Qcollegeduniag
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

‘gcollegedunias


Stamp


The 3 - D figure shows the view of an object
arrow, from amongst the answer figures.

Options:

4 Lo

. Identify the correct view in the direction of the

Question Number : 33 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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Qcollegedunias
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Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

- M
o, .
f‘[ Ty
\|<, *-\-.\:] Ly
e
-\...'-. "
e T
-
> = £33
r;-\. h'\'\-\. ...d"' l
-
- o £
i3 -
S L\__,.--"" -
H""H ~
— L:
P
P
-

~

Options:

-
Y

1.

L [
T L

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Stamp


3 - D WY 3ATHfa H U o F UF 399 H famr T 21 o 5t fown ¥ S g, 59 9E 99
T A | 9 T |

W acs P
e [ T
[qu;

|

-

y .-F.H"\-\._ "-.._\_“_..-
O 1.
H‘"\-»__ Lf ___-""-J o

T
i "H-\._._.___.-"'

7
Pl |

-"-F'-"-

Options:

-
L] L

,

L[]
||

L [

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures,
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Options:
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1.

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Qconegedunias


Stamp
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Options:
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Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Qcollegedunia;
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Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

‘gcollegedunias
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Options:
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Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.
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Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.
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Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.
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Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

One of the following answer figures is hidden in the problem figure in the same size and

direction. Select the correct one.
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?
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Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect

toX-X?
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect

to X -

X?
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Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

syelled 2hg(d2iinieAl 58 25l ue 2ugla-d X - X Al wedst 4ot Waldet (mirror image) & 7

X
BN
X
Options:
Hric
1. —

rc

[ iC
]

Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Q .
collegedunia:
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?
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Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect

toX-X?
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Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Find the odd figure out of the problem figures given below.
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 &1 T A § 9 A Afa Teat |

Options:

AN

‘gcollegedunias


Stamp


L

Question Number : 51 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

A e g2l [Ey 2u5[d (odd figure) AL

Options:
J_.-"I\\\
/ b
1.
&
74
I'..- /_,f'f
3.
r'ﬂx\
A

Question Number : 52 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

gcollegedunias


Stamp


Find the odd figure out of the problem figures given below.

Options:
. .._:}
1. L—
P
2
r"'-f_h‘
{I‘\“ ./E
3.
( ]
i |
T 4
4,

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

== =1 T AEaal | | faue Aea veand |

Options:

1.

Qcollegedunias


Stamp


Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2 U 2ugldaimigl [Eys 2ug(d (odd figure) WAL
Options:

-~
L-
1 *

Question Number : 53 Question Type

: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunias


Stamp


Find the odd figure out of the problem figures given below.

Options:

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

== <t T et | 9 faum afa wete

Options:

‘gcollegedunias


Stamp


Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

20 e 2ugld2iuigl Ey 2u5d (odd figure) 2L

Options:

Question Number : 54 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

Qcollegedunias


Stamp


Find the odd figure out of the problem figures given below.

Options:

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

< 9 T sl 3 & o st v

Options:

gcollegedunias


Stamp


Question Number : 54 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

e H 22l Fy 2u50d (odd figure) 2UAL

Options:

Question Number : 55 Question Type
Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling: Yes

gcollegedunias


Stamp

Stamp


Find the odd figure out of the problem figures given below.

Options:
e
L
1.
[
Z2.
3.

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

< @ et s 6 4 farw s TR

Options:

i

‘gcollegedunias


Stamp


Question Number : 55 Question Type
Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling: Yes

2 e 25l Ery 2us0q (odd figure) 2L

Options:

—

i

iy

Question Number : 56 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

gcollegedunias


Stamp


The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Options:

Qcollegedunias


Stamp


Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D W SI(q | U 9% F U 599 Fi fead T ¥ | S S § ¥, W99 9% % g 9H F 98
T R |

P
o

=]

Options:

Qcollegedunias


Stamp


==

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D U 25l 25 g 22t i . 21 2ugld- vidl Arveel wad wef £ s suglaeieiel
2Ll

—]

Options:

Qcollegedunias


Stamp


Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Options:

Qcollegedunias


Stamp




Stamp


Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D W9 fd § U 95 F TH 99 H fema e | W v § °, W 95 % g 9 # 9l
¥4 TEHY |

.-""
- |
=

Options:

| |

gcollegedunias


Stamp


Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DU 2gld 215 daged £ w5, 21 2ugldd vildl el vad W9 e srae sugldaeisial
2Ll

T
e
_-"_'l-

Options:

| |

Qcollegedunias


Stamp


Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is

opened up, from amongst the answer figures.

s

Options:

‘gcollegedunias


Stamp


L

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D WY SAfa | U 95 % UF 299 Fi fe@mn ™ ) S gvd § 9, W 9% F g 9 H 9e
T9I TR |

i

I
r
:d
'
i

Options:

Qcollegedunias


Stamp


Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 M coliegedunia


Stamp


3 - D s 2l 215 A B A B, 2L 2l wilel Arssnell qad e e sesiot 2uglazimisl

2l
;.-' f
B
Options:
I
|
1. |
| q
2 [
[
(L
3. .

Qcollegedunias


Stamp


Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

]
—
Options:
' _
1. L
f _
_

Qcollegedunias


Stamp


Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D W Afa | U 9 F UF 394 I femrn v ¥ S vl ¥ |, e 9% ¥ |d 9 F 6
399 B |

P

Options:

Qcollegedunias


Stamp


2 O
. Jl
3. b
SIE
4. O

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D st 2l 215 A 2o e 8. 2 2uglad vl Ardsell woiq W e st 2uglaziaial
2UAl.

Options:

Qcollegedunias


Stamp


Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias


Stamp


The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Qcollegedunias


Stamp


1

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D W99 3N(d | U 9% F UF 399 F @ T ¥ | S gy 8 9, v 95 F g 9 F1 el
399 TEaa |

Options:

I_I ]
(=t

Qcollegedunias


Stamp


1

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D M 2igld 2is s £ A ©. 2 2uglad vildl Areell woid W] e seciel 2uglaimidl
91Lel.

P,
==

Options:

l_I ]
E—

Qcollegedunias


Stamp


1

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The Louvre in Paris is which one of the
following ?

Options:
1. A Dance Hall

2 A Banquet Hall

Qcollegedunias


Stamp


3' A Museum

4' A Residence

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Yftm % foo o frafafas § 9«9 @ v

g7

Options:

1; I
2 UF S99 Ta
3. TF R
4, TN

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

URuul 2udg goi Alzi-uxisl 1) 97
Options:
1. 21 e

7 @45 sz €d (Banquet Hall)

3 25 UuSIHA (Museum)

Qcollegedunias


Stamp


4 s (A2

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In the Northern Hemisphere the summer
sun sets in which one of the following
directions 7

Options:
1. North East

2 ) MNorth West

3. South East

4. South West

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I ey # Al H gl e feens |H |
ol g 22

Options:

1. =N

2 IW ufTEH

4. =ferm afv=m

Qcollegedunias


Stamp


Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Gril sleEl Gl ¥ lkumizl 59 Bl
SRS,
Options:

1. Gy

9 Gz Ry

g Elmeryd

4 glEel uE=m

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In which one of the following States is the
Konark Sun Temple ?

Options:
1 ) Karnataka

2' Andhra Pradesh
3. Odisha

4, Haryana

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Frefafad o 9 9 9 79 1 Fons g4 Hiey
27

ions:
Options Qcollegedunias


Stamp


2 Y FeW
3, e
4,

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sletls Y R Al2iArting s el 2ued 87
Options:
1. seles

2 Wi WEIL

23 wilsau

i R ESTE

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

What is the thickness of a half brick thick
wall ?

Options:

1, *

Qcollegedunias


Stamp


3 45"

4. 8.”’

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T AN 2 WIS AR F HE2TE T 2§ 2

Options:

3. 45

4,

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25l fe ol Eanardl sastd 3 67

Options:

1. o

Qcollegedunias


Stamp


3. 45"

4' 8”’

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In which one of the following situations are
trusses normally used in buildings ?

Options:
1 ' High Rise Buildings

2 Large Span Buildings
3 Under Water Buildings

4 Buildings in Deserts

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

frer 8 1 9 o Teafadi | trusses THF &9
T ARG | ITEN Hi S 2 ?

Options:

1, T FE A

2 Efi-_’Spa.n EtCr

3. =t 9 fafeEn |

Qcollegedunias


Stamp


4. TfaE H THRa |

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A, Al SHRalHl 23l (trusses) AL Gl
Al 58 WRERAAML szl 2ud 87
Options:

1. Glell d4iel (High Rise Buildings)

Wzl [Ardidl duizdl (Large span
2 buildings)

yrell A=l Szl (Under water
3 buildings)

A 201 M2l $uidl (Buildings in deserts)

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In which one of the following countries is
Piazza San Marco located ?

Options:
1 Germany

2 ) France

3 England

Qcollegeduniag


Stamp


4' Italy

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1§ 4 % W =9 § g 99 9 g
77
Options:

T _m

1, W

2, ¥

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(Uit At sl AlRiAiAL 241 823 20l 87

Options:

1. ol

2 ARl

(']

L]
o
'_LJ
&

4, fedl

Qcollegedunias


Stamp


Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In which one of the following countries are
Zen gardens popular ?

Options:
1 Thailand

2 . Japan

3. China

/] Pakistan

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TrfafEs 39 5 9 69 <91 1 54 (Zen) 3T
A 2?2
Options:

1, s

2 = mA
3. ==
4, iR

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

s Gaul (Zen gardens) AL s41 2l
el 8§
Options:

Qcollegedunias


Stamp


1. audds

2 . sAMIA

3. A

1. i f5ein

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Chhatrapati Shivaji Terminus is located in
which one of the following cities ?

Options:
1 Mumbai

2 ) Kolkata

3. Delhi

4' Bangalore

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Baata feranst s frafatas 5 9 fag e
Y foomg 27

Options:

1. 3%

Qcollegedunias


Stamp


3. faeet

kS

4,

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

setuled [Rietsy 2B AlRlArinL s 2l 2ueg
57
Options:

1, ¥6

2 sldsdl

3 [eedl

4. bR

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following colors absorbs
all light falling on it ?

Options:
1. Blue

2 Black

Qcollegedunias


Stamp


3' Green

4. Pink

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

=1 ® 4 =19 9 3 50 W U 9 94 g5

T AT Fl & 7
Options:

1,

2_ el

3. &

4, T

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AlZAMIAL 541 391 deAl Y2 Ul HEL 8¢ USRI
Ml d 7

Options:
1. =gl
2 sl

3 dlal

Qcollegedunias


Stamp


4, el

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the following colors is
perceived as cowardice ?

Options:
1 Pink

2 ) Purple

3' Orange

4 Yellow

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=1 § ¥ %19 91 37 FHEE S5E AT e
Options:

1, T

2. i

i~

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 Q .
collegedunia:


Stamp


AlZAMIAL 541 391 53l A3l 20l 2
£
Options:

1. el

2 sl

3. -l

4. Yl

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the following textures
describes the surface of a mirror ?

Options:
1 Grainy

2 Wrinkled
3 Shiny

4. Coarse

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=1 5 4 %9 o1 =" =99 F1 9dE & 9
FIAE?
Options:

Qcollegedunias


Stamp


]

2. ST 9redl
3_ HHEFER
4, T

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al2lAl 2532431 (textures) Higll 24 2522z el
HUZl wel 52 87

Options:

1. EWER

9 svadl Ysd

. UNER

4 RO

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

What is the purpose of louvers in
buildings ?

Options:

Qcollegedunias


Stamp


1 To support buildings

2 To stop wind from entering

3. As sun breakers

4 To hide something

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

THRET H o[ Y 1§72
Options:
1 SANA! 1 TEr 21

2. 1 T GG UFAT

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

duizdidl ged (louvers) L dd 4 97
Options:

= -,

1. SRl 250 el

Qcollegedunias


Stamp


T el UL isel

3. dssl sl

585 sl W2
4, Q

Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following floorings is
ideal for indoor badminton courts ?

Options:
1 Granite

2 Brick
3. Marble

4. Wood

Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

= ¥ ¥ =1 W %Y TAER Jefded FE &
o sTeel &7

Options:

,

1,

2. =

Qcollegedunias


Stamp


Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wolrel 252 2uddl el 512 w2 Azl
sl el (floorings) M2 gl 87
Options:

1. A-ude

2556

3 PR (Marble)

4. s

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following architects
designed the Madhya Pradesh Assembly
Building ?

Options:

1 Raj Rewal

2 ) Charles Correa

3. AP. Kanvinde

Qcollegedunias


Stamp


4. B.V. Doshi

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T 9 4 5 U Il = 79 Jou faema =

o = Tesmea dan fea 22
Options:

1. T EE

2 e i

A, = 2

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ey ueel [Hasel olaql 22 AlziAmisl s
2aud (srdsir) = 54 87

Options:
1 2lse HIA

2 2l 5L

3 = silds

Qcollegedunias


Stamp


4. ofLel. gizll

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

What is the normal height of a doorway in
residences ?

Options:
1 ) 2.5 meters

2 ) 1.5 meters

3 ) 2.1 meters

4' 2.8 melers

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o W ER F WY s e 7

Options:
1. 25¥=R
2 15"
3. 214X
4, 28#HX

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Qconegeduniai


Stamp


e Eretiel s Glaud 9 el 69

Options:
1. 254
2 154
3 214
4, 284
Drawing
Section Id : 40503629
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 2
Number of Questionsto be attempted: 2
Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 40503640
Question Shuffling Allowed : No

Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
cylinders. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting.

Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50

Qcollegedunias


Stamp


H 99 & 3T & AU 98 &I T 9E H,
e fafe=4 =1 39AF %1 59 T & fag
SUFE Uk Hied =1 098 F1 | T St
W= 8l €1 51 T I TS dlfeh Jg gfe |
TH=F B A |

Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50

DL WAL o7l |2 AU sy 3, S50
ANUSIRIAL Gl 571, 2 e 3L ddR 530
w2l v, 58, 2saell 2 Bl w
sl wulEl A2l U vAEl 0 YRl s ol d
sdell™l 2 AL

Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50

Draw from imagination a gymnast doing
eXeTcise.

OR

Draw from imagination a scene of a school
playground with children playing.

OR

Draw from memory a grand parents face.

Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50

FHegA] | UE e %1 =W F:d g et
Exd

A1exar
Fo U UF e F @A HeH H F= @
W gu fakm & |

E )
=i 4 UF e AGGT a1l F1 e 9t F |

Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50

Qcollegeduniag


Stamp


dqiEl seu-El, 215 e sl Al
(gymnast) -3 DEREEIEN

AL
Al seudel, wis 2gd Wultesd R sl
sl A5l B4l 1L

24
Al Fzeeilzl s 2 sl wduq B
oilell.
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